LABJNDu? triangle lightnesst*
Ync YW nc_loox

t* LaBINDU7 =[IN[(A 17+A20Y)V(A 20A0n)] (Ynd/100<Y<=Y, ()
t(3.6)=174 1* ,(18)=396t*(90)=616

* =49, t* =39¢

t =613, 73 Al
L
143,671 73,94 tA=3¢

LABJINDu7
tristimulus value difference

Yac=Yw nc=100,
L agaNDu7=IINIA 10+A2 V(A 20A 0n)] (Yad100<Y<=Y, )
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
dYg=0,67, P()n 1,500, ¢=0,84

dY;=0,15, A =0,014, Agn 90078
dY3,6=0,04 Y,=18, dY=0,15 1

*,=396 dY;=0,15 dY/:u—O ./084 ‘

application
range

1Y,=18
Yw=90

Yn=3.6

log (AY/Y) LABJNDu?7
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

L aBINDU7=IINI(A 1A I(A 2nA0n)] (Yo 100<Y<=Y,0)
AYIY=AG A1 +AZYVY

(dY/Ypo=0,2875, A4=1,500, 6=0,8;
(dY/Y)g=0,2084, A F0,05+, A =0
(dY/Y}5=0,0153 .218, dy=0.15

4
0048

~
»
log(dY/Y)=-2,07, m=-0, B4 5 3
- |
t*,=396 dY,=0,15 dY,/Y,=0,00841
1
1
1Y,=18
V=90

application
fange

Yn=3.6

LABJINDu7
tristimulus value contrast
Yoc=Yw =

e=100,
L aBINDU7=IINI(A 1n+A2)I(A 20A0n)] (Ya/ 100<Y<=Y,0)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dYy=132,52, Ay=1,500, 6=0,84
(Y/dY)g=117,67, A=0,014, A, =0,0048
(YIdY} =75,42 218, d=0.15

log (Y/AY)
C,=(Y/AY)

Iog(YldY):Z 07, m,= o 1348 ir

range
Y,=18
1Yyy=90

1
: application
1

—
Yn=3.6

LABJINDuU? relative triangle lightnesst*/t*,,

it
Yoc=Yw nc=100,

i,
t*LaBINDU7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
t*\(3,6)=174 1 ,(18)=396*/(90)=616

t*gg/t* =1,55, Ap=1,500, ¢=0,84
t*1g/t* =1,00, A, =0,014, B 00048
t*3 gt¥,=0,43,t4,£395,50 Y= 1

log[t*/t* ,]=0, m,=0,33
1
1 application
f range
1y,=18
Yy =90

I M\=36

LABJNDuUTY relative
tristimulus value difference

Yoc=Yw - nc=100,
t*Laganpu7=IN[A 10+A2nV)I(A 20A0n)] (Yno/100<Y<=Y, )
AYIY,=AgfA 1 +AgYIdY,
dYog/dY,=4,43, Ay=1,500, ¢=0,8
Y9/dY,=1,00. A=0.014. Az =0, 0043
dYsdY,=0,31 V.18, d=0.15

log (A YIAY,)
AYIAY,

>
>
t*,=396 dY,=0. 15 dy, /! 1u—0 ./084 >

log [(AY/Y) I (AYIY)] LABJINDuU? relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

t*Laganpu7=IN[A 1n+A2nV)I(A 20A0n)] (Yno/100<Y<=Y, )
AYIYYAYY,=(Ag it Ag Y)Y EYIYY]

(dY/Y)o/(dY'Y)~2, 28 Av,=1,500, G=0,84

(0]

8.
(AYIY}g/(dY/Y p=L,00, Ayr=0,014, Ayy=0,
(dwvid(dv/v =1,22 V218 dy=0.15

048

logl@Y/VY@YIYLJ=0, m=-0.13 1 .
t*,=396, dY,=0,15 dY,/¥,=0,0084 ?g’%‘ga‘“’”
1y,=18

=Clp log

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDu? relative
tistimulus value contrast
CrlCry=(YIAVI(YIAY)y v 2y 2100

nc— '
t*LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
(YVIAYY(YIAY ) =Y IYIAY )T oA g Agr V) (Y/AY),
(YIdYhg/(Y/dY)=1,12, Ay=1,500, ¢=0,84

(Y/dY}/(Y/dY)=1.00, Ar=0.014. A, =0,0048
(Y/dY%vd(Y/dY =0,64 Y,~18, d\=0.15

application
range

1y,=18
Yw=90




